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Political Science

Paper 1II

RSEIGIRCEIE
gyarent 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U TR Wl U dredl

AT ¢ A YIehd THY WM (100) sgUarl g9 foorel ofed. gcieh Ueeren g (2)

The historic ‘Quit India’ resolution
was passed under Mahatma
Gandhi’s leadership at Gowalia
Tank median in the city of :

(A) Kolkata
(B) Chennai
(C) Lucknow
(D) Mumbai

Who was the revolutionary Marxist
leader with whom M.N. Roy had
a prolonged political debate in
1919-1920 ?

(A) Karl Marx

(B) V.I. Lenin

(C) Joseph Stalin
(D) Mao Tse Tung

Who among the following
personalities established the
organisation ‘Abhinav Bharat’ ?

(A) B.G. Tilak

(B) M.K. Gandhi

(C) Rabindranath Tagore
(D) V.D. Savarkar

TRl MEfe Agemaett Terferan I
TG Ufqeries  9Rd DSl 3Ud ShIve]
U UG el ?

(A) it
(B) =g
(C) <&
(D) T

AT T AT 1919-1920 A HIve
Shifdeheh HIERIAR I TeeR TSTeh 1™ <=l

el ?

(A) wTe A

(B) =MGHR gfer i+
(C) S e

(D) el &
TTelel Seriteh! * SAfYa YA’ & dee
RO TOMOH hell ?

(A) 9 TR feosh
(B) Wik TeR

(C) sz 2riR

(D) fa.gr. Hehl

[P.T.O.



Which of the following were the
tenents of Jayprakash Narayan’s
concept of Communitarian
Democracy ?

(@) Decentralised political economy
(b) Competitiveness

(¢) Deliberate process of devolution
(d) Harmonization of interest

Choose the answer from the
following codes :

(A) (®), (o), (d)
(B) (a), (®), ()
(C) (a), (o), (@)
D) (a), (®), (d)

Which one of the following is not
separatist movement ?

(A) JKLF
(B) ULFA
(C) PLA

(D) Naxalism

Who among the following
launched Kalaram Mandir Entry
Satyagraha ?

(A) Mahatma Gandhi
(B) Vinoba Bhave

(C) Dr. B.R. Ambedkar
(D) J.P. Narayan

Which one of the following is the
characteristic of post-behaviourism ?

(A) Quantification
(B) Relevance
(C) Value free

(D) Pure science

4.
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ATk ShIOTA STIYRTIT FIE0 I
' FTART AREIR! A Hehea T U] B
v,

(@) Tafsa TSia siefeaen

(b) FaericHRd

(c) H&qH TNl ECH Wik

(@) feadsier=n iz

et fociedn sienyd W fHerer -
(A) (b), (o), (d)

(B) (a), (®), (c)

(C) (a), (c), (d)

(D) (@), (), (d)

TTeATsh! IO FRIRATITE! He3des

T 2

(A) 3.%.TA.TH
(B) 3wt

(C) dl.ua.T
(D) A

TeAeTden! UM HIBRM AT YA TG
gE hal ?

(A) were e

(B) foden s

(C) . .U 3Teeat

(D) SEYSRIRT AR

AT IV TG RaE Jf¥Tse
R ?

(A) TRHATH

(B) Fwp

(C) HeAf-uer

(D) fags A




10.

With which of the following
organizations Periyar E.V.
Ramsamy was associated ?

(@) Self-Respect Movement
(b) dJustice Party

(¢) Dravidar Kazhagam
(d) Home-rule Movement

Choose your answer from the
following codes :

Codes :

(A) (@), (c), (d)

(B) (), (c), (d)

(C) (@), (B), (c)

(D) (@), (b), (d)

Agganna Sutta is in which text ?
(A) Digha Nikaya

(B) Tripitika

(C) Vinaya Pitaka

(D) Dhammapada

In Buddhist literature what is
‘Sutta’ ?

(A) Dialogue between Buddha and
Sanjaya

(B) Discourse imparted by the
Buddha to two Brahmins :
Bharadvaja and Vasistha

(C) Dialogue between Sariputta and
Assaji

(D) Discourse between Anuruddha
and Katyayana

10.
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ETATIUehT shIvTca] FEETERIsN YR ¢.

. THEH Fefed B ?
(@) 3SATCH-GHM Tddcs
(b) SIEE 9y

() SR hoed

(d) TH-TA weFdB

[ LN

Erelt feeiean gEiqa g s feren .

gt

(A) (a), (c), (d)

(B) (b)), (0), (@)

(C) (@), (b), (c)

(D) (a), (b), (d)

3 Y HIV TNid FHIOS 38 ?

A) feaftem

(B) ffyesr

(C) forafyes

(D) =Y

dg Wifeera ‘gu' WUS HE SR ?

(A) Jg iU GsF ArAdia Folg

(B) wRgrS! 311 =If¥res A1 S STt
dig™ el ==t

(C) TR 77 TETSi Ar=amdiel Hag

(D) 3TI%S M0 T Ir=AMLA ==

[P.T.O.



11.

12.

13.

14.

Which imperialist country had
maximum number of colonies ?

(A) Great Britain
(B) France

(C) Portugal

(D) Holland

Which leader of anti-colonial
struggle served as President of
Zambia from 1964 to 1991 ?

(A) Kenneth Kaunda
(B) Harry Nkumbula
(C) dJulius Nyerere
(D) Robert Mugabe

Who among the following leaders
was not associated with anti-colonial
struggle ?

(A) Mahatma Gandhi
(B) Kenneth Kaunda
(C) Harry Nkumbula
(D) Daniel Lisulo

Identify the non-democratic regimes
from the following :

(A) Switzerland
(B) Australia
(C) Cuba

(D) Denmark

11.

12.

13.

14.
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STV HHSTAE] ST Gaifeeh Samedt
B ?

(A) Fe foed
(B) rH

(C) drdma

(D) @fefs

guTeddare fatiel Ioasid gy

ST SHIVT AJea™ SHferaTe Tsreel

RUE 1964 4 1991 W & Hal ?
(A) &9 Hiel

(B) &0 TRdel
(C) Fferad AW
(D) TR T

FHRdae folid) Sae Wieiielish! hivld
IgE TR eEd ?

(A) A Tieh

(B) &A™ wiel

(C) & Then

(D) <fera fage

TCATAUsh! TR-GIRIE TSTae SiIeel
(A) s

(B) atefern

(C) =g=n
(D) STHTh




15.

16.

17.

18.

In which of the following developing

countries transition from democracy

to consolidated democracy can be
witnessed ?

(A) Kenya

(B) India

(C) Uruguway

(D) Pakistan

Choose the incorrect statement :

(A) New social movements focus on
issues related to human rights.

(B) Gay rights movement can be

considered as new social

movement.

(C) New social movement emerged
in mid 1960 i.e. in a post-
industrial economy.

(D) Animal
cannot be called new social

rights movement
movement as it is not related
to human rights.

Which among the following is not

new social movements ?

(A) Women’s movement

(B) Ecology movement

(C) Gay rights movements

(D) Peasant movement

Which of the following political

systems has multiparty system ?

(A) USA

(B) Great Britain

(C) France

(D) Australia

15.

16.

17.

18.
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WU IV oA AIheRIhSH
TGE AIhYIRIhe HHTU el

IJq ?

(A) =T

(B) ¥rd

(C) 3&d

(D) TR

TreAieden! gehial fau™ sfiesen :
(A) 9 HHISIh Tesded! AT BFhT=l
eI’ A4 ehigd hidmw.
TafAT Fosdadiall w1 |THIH
Tesdes TEUad dsl.

9 GrATiSTeh Feddes 1960 HEAeR
guret  SfiEife erefegeed=an
ST AT STl

gIo=] IR el Ad
TSI F3desl WUl IR ATl
HROT AT TS EFRITN Farerd
EIRGH

ETATAdh] hIVAl Heddes 0 HBdod
& 2

(A) o=t Feaes

(B) U =roseies

(C) THANTHRTE Hodaes

(D) dRI TeodB

TCATCTURT ShIVTT TSTeh1dl TEST Fgae
qgdl 3R ?

(A) JTHT

(B) U< foreA

(C) HrH

(D) sArefern

o

Y

(B)

(®)

(D)

[P.T.O.



19.

20.

Which
Schumpeter’s

is not the feature of

elite model of

participatory democracy ?

(A) Common people do not have
capacity to make intelligent
decisions in area of politics.

(B) In democracy the actual power

is in the hands of an elite

minority.

(C) Democracy is competition

between elites and masses.

(D) In democracy the role of citizens

duty begins and ends with

selecting — via ballot box — the
individual or party.

Match List I with List II and select

the correct answer from the codes

given below :
List I

() Patrimonialism

(z1) Majoritarianism

(zit) Bureaucratic authoritarianism

(v) Military dictatorship

List II

(@) Argentina between 1966-1973

(b) Iraq during 1979 to 2003

(¢) Czar during 12th century
to 1917

(d) Athenian democracy

Codes :

(A) (@-c), ((i-d), (iii-a), (Tv-b)

(B) @-b), (Gi-c), (tii-a), ((v-d)

(©) (@-a), (ii-b), (iii-c), (iv—d)

D) @G-d), (ii-c), (iii-b), (v-a)

19.

20.
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Treaden! v Afersesr gdex A

TEUTT hyal= SATISHaR! Jredr

EINEO R |7

(A) FH ARAT TSTRROUTESET g
fofa SoarEt gmar 9.

(B) CIehITRHEY Woael Tl & SAeuded
fysHTen gaE o

(C) <iehemel WU s 3for ofieh
I TE gL

(D) NHIMEAE AT AT
TaudigR =il fehar veet fae
0 3T GE B A 8= HI.

RIS | SRS o i e

S Gehd FeI-HyA Taer

RIC |

(i) SRS

(i) TGHEATHRA

(i11) TR ThTTIRTIRTE

(iv) TR GRS

BRI

(@) 1966-1973 Heid 3Tife

(b) 1979 d 2003 Wi 3T

(¢) 129 s d 1917 gHa=ll SReME!

(d) AITmA ARG

Heha-gell :

(A) (i-c), Gi-d), (iii-a), (iv-b)

(B) @-b), (ii—c), (iii-a), (iv—d)

(©) (i-a), Gi-b), (iti—c), (iv—d)

D) G-d), GGi—c), (Gii-b), (lv—a)




22.

23.

................................. Committee was

appointed for advising the

Government about Non-Scheduled

Languages.

(A) Chandrashekhar Kambar
(B) Bhalachandra Nemade
(C) Sitakant Mahapatra

(D) Ashok Vajpayee

accord was an

attempt to contain terrorism in

Punjab.

(A) Rajiv — Longowal

(B) Indira Gandhi — Bhindranwale
(C) Nehru — Laldenga

(D) Vajpayee — Badal

Who led the All Assam Students’

Movement against migration ?
(A) Prafulla Mahanta
(B) Hiteshwar Saikia
(C) Gopinath Bardoloi

(D) Tarun Gogoi

21.

22.

23.
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TSTaeEe I Hedl < UaTHIa!

o0 N

HdAl

THU[R  HIUAT

(A) TSR FHaAR

(B) HoT=ig AHTe

(C) Hidrertd HETAT

(D) 3T QTS

(A) TSg — e

(B) sfeq el — fgam

(C) q8® — AL

(D) ST — A

A AEH LEH FHaT=A T~
(a)

foieht =eaesi™ A Tefiedeh! oM

Hel ?

(A) el HEd
(B) feaser dfwan
(C) T aRies
(D) T TS

[P.T.O.



24.

25.

26.

Frequent use or misuse of Article

has caused rift in

Centre-State Relations.
(A) 352
(B) 360
(C) 356
(D) 32

Which of the following is not

correct ?

(A) Demolition of Babri Masjid
— 1992

(B) Announcement of LPG Policy
— 1991

(C) RTI Act — 2005

(D) Assassination of Indira Gandhi
— 1985

Reorganisation of states was done on
the recommendations of ......................

Commission.
(A) Fazal Ali
(B) Dar

(C) Sarkaria

(D) Mandal

25.

26.
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cncTHI=Al Hdd=Hl AT4Y
foran TRETRIes H3-Tod o 3R
frmfor g e
(A) 352
(B) 360
(C) 356

(D) 32

qEICTuch] IV STl sReX AT ?
(A) IERI HEE 3IgEas w0 — 1992
(B) @MSe: RO =oon — 1991
(C) wifectt SRR TR — 2005
(D) Efe =t g — 1985

Tl g

ST RTRREATaOR v STe.
(A) IS STl

(B) <X

(C) STehIL

(D) Hed

10
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27. Which of the following is not a 27. {g||q-|'\|q-|?3]qq'\| CANGH grqs Ty =|'|g'|‘ ?
Dravidian Political Party ?
(A) Tfae heseM
(A) Dravida Kazhagam
(B) #&Hd e T3 hasey
(B) Marumalarchi Dravida
Munnetra Kazhagam (C) deior Tz Wit
(C) Telangana Rashtra Samiti (D) STUUMEHe T&1
(D) All India Anna Dravida | og wrefieiat ®iven s sifase=n
Munnetra Kazhagam N oa . - .
chlodld el SIHTHIS] H¥cd Al
28. Which of the following castes is not T 2
mobilised recently for seeking
reservation ? (A) e
(A) Jats (B) URIRR
(B) Patidars (C) |
(C) Marathas (D) T
(D) Malis
29' .................................. ﬁqwﬁaﬁﬁ
29. e is the new entrant PN "
gfshadicl el o TR
in the voting process in India.
(A) HaYfsFent
(A) Ballot Paper
(B) EVMs (B) e =
(C) VVPATSs (C) Hrdde =
(D) Electoral Violence (D) HOISULch HIAA [6EER
11 [P.T.O.



30.

31.

32.

33.

The leader of the opposition in the
16th Lok Sabha was :

(A) Kamal Nath

(B) Mallikarjun Kharge
(C) Rahul Gandhi

(D) Gulam Nabi Azad

Which of the following is not a Union
Territory ?

(A) Mizoram

(B) Lakshadweep

(C) Andaman & Nicobar Islands
(D) Daman & Diu

Article 1 of the Indian Constitution

describes India as the :

(A) Territories of the States
(B) Union of State

(C) Indian Federation

(D) Confederation

The Joint Session of the Parliament
is chaired by the :

(A) Speaker of Lok Sabha

(B) Vice-President of India

(C) Chairman of the Rajya Sabha
(D) Prime Minister of India

30.

31.

32.

33.
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1651 drRgydia faded gam= Aq

€ T

(A) hHATY

(B) wfcereptsd @
(C) Tgar el
(D) ™ Tl 3R

JEICTUh! SHIVMT M YT A&l ?
(A) frerH

(B) @&

(C) @ieHE 37fon R 52

(D) <HU o i

AT qoTeeAd WRATS eyl o
e

(A) ToEME e
(B) <A R

(C) YRAE TERT
(D) HeEH

GEe IR SATEETHT STe e
........................... %, W,

(A) AREde Ay
(B) WRAM IUUSA
(C) THEHAT FHTIA
(D) ARATE qA9EH

12
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34. The President of India addresses | 34, wRar Ucgudl o= S HUNE=AT
both the Houses of Parliament . S TV,
assembled together :

h{dld
(A) During the emergency session
of the Parliament (A) FEHT MYEhTel AREeHR
(B) Every Session (B) Yo% STfase
(C) First Session after each General - . .. R
Election and First Session each (C) WETEF TSR el
year AT 0T SXasi=a dfged
(D) Any Session SIRENEIG]
35. Supremacy of the Constitution (D) SR ATUATE
means :
o 35. FeAdl Haleadl ®BUN
(A) Constitution is above States
(B) Constitution is above (A) =T TSATI AT TR 1S
Government (B) ST € SIEATET S e 3T
(C) Constitution is above all . .
e L. o (C) o1 & gd T, guear o
institutions, organisations and
citizens TATRTIEN ST TFER 371
(D) Constitution is above the (D) ST & TESUeT ST TFER TR
Parliament
, o 36. U< Wald Hor Gl vt ?

36. Which of the following is the largest
Committee of the Parliament ? (A) 3T |ffdt
(A) The Estimates Committee (B) crecran afadt
(B) The Public Accounts Committee - <

(C) wradwsfAe &Aidia SEifasaes
(C) Committee on Public Sector
B . [t
nterprises
(D) The Committee on Petitions (D) =feerTfaoess dftdt
13 [P.T.O.



317.

38.

39.

40.

The Council of Ministers hold
office :

(A) During the pleasure of the

President

(B) During the pleasure of the

Speaker
(©)
(D)

For a fixed term of five years

During the pleasure of Prime
Minister

The following word was added
to the Preamble by the 42nd
Amendment :

(A) Secular
(B) Democratic
(C) Republic
(D) Sovereign

According to the Constitution, the
President of India works on the aid
and advice of :

(A) The Vice-President

(B) The Prime Minister and the
Council of Ministers

(C) The Supreme Court of India
(D) The Attorney General of India

Which Article of the Constitution
envisages a Supreme Court ?

(A) 128
(B) 124
(C) 132
(D) 136

37.

38.

39.

40.
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afrees weiwld wRYR |ived ?
(A) TSIUdr= ASf ST
(B) TehEl STeAaf=i Aol STqHd
(C) wr= auten Ffvea sremadErdt
(D) UaueHrEN " ST

N (a) o
AATBTHTSAT BEATLREATT AL ¥ZH=A]

IR EEAR gcf?lcd QAT HHIERT h{0dTd
STAT ¢

(A) wHfae

(B) wTeheTel

(C) gSmgTeh

(D) wmEH

IR SEAYHT
AT Foell d AFIGYHIIER ShiH .
(A) ST

(B) daue smftn Afwes

(C) YRA™ Hated AT

(D) YRaT™ HErAFeE!

el JeIaieh! IV HETHId Hared

e fAfdd=T S e ?
(A) 128

(B) 124
(C) 132
(D) 136

14
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41. One of the key features of | 41. fommHS TIMEAR T Hew™™ A3
development administration is U B
that it : .
A) FEFTEE AR |
(A) Emphasizes on regulatory work (&) ‘
(B) Emphasizes on rule-bound (B) : W
conduct (C) HEHIOMER W
(C) Emphasizes on centralization (D) TEITTHAISR o
(D) Emphasizes on participation A9, T CRGOIER oo |
42. The New Public Administration YT N
advocated : L
) (A) HTXIUT IME gIeEhA
(A) Management science approach
(B) Efficiency and economy (B)
(C) Social relevance based (C) wrIS=h EIE@EIEI R e gt T
approach (D) H@-ﬁ—{qw
(D) Value neutrality o
43. g fuigsr dftdem enfor wer ARG
43. The Minnowbrook Perspective and '€|T .............................. W EETH'Qﬁ g’a’faﬁ.
Frank Marini are associated with T,
the emergence of :
(A) New Public Administration (A) IR
(B) Development Administration (B) TorshTaIcsh SR
(C) Scientific Management (C) VeTE SHEEdTdH
(D) Rational Choice Theory (D) o=t fHas fagi
44, Wthh one Ofthe fOHOWing SUbfieldS 44. {91|q-|q|(,-|?:|chq| q,;\|U|(-e_,|| \'SLIQHLSJ‘CH Ry Ji(,q 3:|'|'FU'|‘
emphasized on values and ethics ? ey TR ?
(A) Comparative Public Adminis- >
tration (A) gaie
(B) New Public Management (B) FoeiieheAaEeTT
(C) New Public Administration (C) FocilRyema
(D) Rational Choice Theory (D) oot fHore fagia
15 [P.T.O.



45.

46.

Which one of the following actions
is indicative of ‘integral’ dimension
in the working of an organization ?
(A) Filing papers

(B) Planning

(C) Staffing

(D) Coordinating

Give the correct answer by using the
correct code given below :

Assertion (A) :

Some scholars have ridiculed
and rejected the principles of
administration as “myths” and

“proverbs”.
Reason (R) :

For almost every principle, one can
find an equally plausible and
acceptable contradictory principles.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) i the
explanation of (A)

(B)

1S not correct

(®)
(D)

(A) is true but (R) is false
(A) is false but (R) is true

45.

46.

JUN - 15219/11—B
TITATATRT HITET Fdl FEreA=al
FHwTSE AT Uee gEd R ?
(A) HTETS A0
(B) S

(C) HHATY AU

(D) ¥q<=3

el Gehdleh=l dT e I I

TFI%T:
fagam™ A)

hTe! ST JRTEAT dxar] Sdeh
ST TgUit 319 Hellgd < hel 30T
¥ & AR

T (R) :

STelcSTaes Ueleh dxaTdIS! STl doed
fovaaa 9 WierE WeRfa ao
3TEAd.

i
(A) (A) =fT (R) ® Sl Tadqut sRieR

3T (R) ¥ (A) X RIS SIS
SIS

(B) (A) 3191 (R) & To=q0l sRIsR 37Ted
T (R) § (A) & AT TR
BN

(C) (A) IR T 3T (R) Ik TR
(D) (A) I g W (R) SRR T

16
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47. Accountability as one of the three | 47. ‘ST’ ¥ AHIRITEATAT I Aol
cardinal principles of Public AUkl TWeh dxd ST IICIRGIEE
Administration iS ensured in NeW ................................. g.ﬁ a?)T"ﬁ \_rnﬁ
Public Management by : NP ~

s d (A) fyeRTo=T SfEsydi
(A) Performing agency’s goods .
(B) srEiUGdE qUd: 3facied ol
(B) Following procedures in totality .
(C) aftsgr=a1 3= 9 Hieul
(C) Not obeying orders of superiors )
(D) wEwie YeTen gEUEN e
(D) Preventing misuse of public
money 48. Hag JeA ¥ smyfTh
ThRMEre STEvTS dAfered 318 o/
48. Max Weber identified it as essential
EIREIEEBETCH
feature of modern bureaucracy :
A) TEEMHH
(A) Hierarchy &)
(B) Flexibility of rules (B) T <Iar=eh
(C) Patronage (©) =
(D) Personal charisma (D) SRR

49. The principle that “a subordinate 49. ‘TS FHAA THE AR =T
employee should receive orders from STeRITeAT ', AT e T
one superior only” is known as : FRUIdId.

(A) Span of Control (A) TE=om=Et e
(B) Unity of Command (B) 3Tl Wehdl
(C) Hierarchy (C) UMM
(D) Delegation (D) Yeu 3faeR
17 [P.T.O.



50. Match List I (Theorists) with List I

(Ideas, Arguments) and select the
correct answer from the codes given

below :
List I (Theorists)
(@) Vincent Ostrom
(b) David Easton
(¢) F.W. Riggs
(d) Mary Parker Follett
List II (Ideas, Arguments)
idea of

(1) Advanced the

‘constructive conflict’
(2) Presented ‘defracted model’
(3) Critiqued bureaucratic model

(4) Conceived of public policy as an

output of the political system
Codes :
(@ @) @ (@
A @ @ O3 @
B B3 @ @ @
¢ @O 6 @ @
M 2 @O B @

JUN - 15219/I1—B

50. Il I (fagiaer) sfor 9t I (HeheuH,

FfFqa) 1= A=A wdrd
Tehdioh= TR hed JA I TN ¢

et 1 (Fagiaen)
(@) Hie iem
(b) <fwe =
(0 ThE=Y fog
(d) A8 R HicE
et 11 (HeheUd T, Jferare)

(1) fours Foui=n FheqTa1 JEhR

el

N0

chdl

(2) forfea gfqummr=in wreth

(8) Tafercger TRl SfaArrT |t

sHedl

(4) GrESeh €ROT T TSeha SFIEI=
foou=it ome, oT°N Hed et

Hehdih :

(@ ®) (@ @
A @ @ O3 @
B B3 @ @ @O
< @O 6 @ @
M 2 @ B @

18
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51. Which one of the following is not | 51. a9 Tnfae ITEHaT @Tds! HIoQ
a characteristic of new local w ST @ 2
governance ?
. (A) 3= ST FREGEIR TR
(A) Organised on formal and legal
pattern
(B) Based on the post-bureaucratic (B) WERT= IW-AHRMRE Hehodia
notion of organisation G
(C) Operate through open networks (C) g JeT cl'{{gl\{ Fri
(D) Participation of stakeholders in .
. b : (D) Fofa gfshadial WRTERERT Feum
decision-making process
52. Functions discharged by the 52. ™ TS ST =/ =
Panchayat Raj Institutions fall W ................................. aﬁ.
under (A) 9= TRfyTe
(A) the 9th schedule
(B) 10=a1 ufifyrsera
(B) the 10th schedule
(C) 11=a ufifyrsera
(C) the 11th schedule
(D) the 12th schedule (D) 1251 RIS
53. Article 243 I of the Indian | 53. WINGA Us@sT=A FoH 243 I 7eA
Constitution provides for the FHIMAT WA R TR ¢
constitution of : . .
(A) T Id TSt 9Eq1
(A) Panchayat Raj Institutions
(B) TaTfeTeht
(B) Municipalities
(C) State Finance Commission (C) T for
(D) State Election Commission (D) T ||5|g11\7=|; SR
19 [P.T.O.



54.

55.

56.

Major challenges faced by urban
local governance bodies in India

are :
() Financial crunch
(b) Low level of |citizens

participation in local bodies
(c)
Codes :
(A) (a) and (b)
(B) (b) and (c)
(C) (a), (b) and (c)
(D) (a) and (b)

Privatization of public services

How many states in India have

constituted the Lokayukta

institutions ?

(A) 15

(B) 20

(C) 17

D) 19

Lokpal consists of :

(A) 9 members including chair-
person

(B) 8 members including chair-
person

(C) 10 members excluding chair-
person

(D) 7 members excluding chair-
person

55.

56.

JUN - 15219/I1—B

AT el AN STl
& 3egH 3.
(@) fo=i= =orEo

(b) TR HEATAIA ANTRERT=T 3Ty
Ul

(c) TehEar™ TSR
Hehdich

(A) (a) o (B)

(B) (b) 3 (c)

(©) (a), (b) A ()
D) (a) 0T (b)

AT fehet TS kTR a1 TEe=

TOAT hefl 38 ?
(A) 15
(B) 20
©) 17
(D) 19

Brdl.

(A) srmaEied 9% HE@

(B) srexaHied 376 Hew=
(C) sreaenfyremd <@ Hee=
(D) STEAAREE 9[ qewr=

20



57. Which among the following is not

58.

the
(A)
(B)

()
(D)

feature of good governance ?
Equitable and inclusive

Non-responsive and non-

consensus
Participatory and accountable

Transparent

Match List I with List II and select

the

correct answer from the codes

given below :

(@)
®)
(c)
(d)

(1)
(2)
3)
4)

List I
Good Governance
Citizen Charter
Ombudsman
RTE

List II
People’s defender
Equitable and inclusive

Empowerment of citizens

Article 21A

Codes :

(A)
(B)
©)
(D)

(@)
(2)
(3)
(1)
(4)

)
3)
(2)
4)
(1)

(c)
(1)
(4)
(3)
(2)

(d)
(4)
(1)
(2)
3)

JUN - 15219/I11—B

57. GETEHAS WICeTdeh! Shiv Teh AfeTSe
TE 2

(A) FH=IE o SHTeee

(B) 31ufqareel o1 Tehamedr forfed
(C) FeWET 3o SeRerE

(D) WREEH

At I = At I 3 Sreen Segan sfon

SN LN ~
LAl Toed el Hehdishiqd AT 3T

aer

58.

(@)
®)
()
(d)

(1)
(2)
3)
(4)

e 1
G- JIFhHA
AR IS

o

SIS HHT
RTE

it 11

ERREGED
USRI i Heseh

AR R0l

hetH 21A

K3 03
.
.

A (2)
B) 3)
)
D) 4)

(@) ()
(3)
2)
(4)

(1)

(c)
(1)
(4)
3)
(2)

(d)
4)
(1)
(2)
3)

21
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59.

60.

In which Article right to education
is incorporated ?

(A) Article 22

(B) Article 19(2)

(C) Article 21(A)

(D) Article 23

What are the features of MNREGA ?

(@) A person above the age of 14
years is entitled to apply for

work.

(b) Any applicant is entitled to
work within 15 days of his

application.

(¢) It is limited to 100 days per

household per year.

(d) The applicant will be provided
if possible within radius of

5 km.
Codes :

(A) (a), (b) and (d) are incorrect and

(¢) 1s correct

(B) (a) 1s incorrect and (b), (¢) and

(d) are correct

(®)

() and (b) are correct and (c)

and (d) are incorrect

(D)

(a), (b) and (d) are correct and

(¢) is incorrect

59.

60.

JUN - 15219/I1—B

Torerumr=n eeh [l HHIART eh[V[cH] shfHId

Hal A ?
(A) e 22
(B) %™ 19(2)
(C) waH 21(A)
(D) =etH 23

TR (MNREGA) afsset &
aed ?

(@)

IeT aefeiel ekl hIHEES! TSt
FOIE TSR 3R

HITAET ANGR A H A=A
ey 15 feadm wm farae
BHIX 3TTe.

®)

oo e aas 100 feaargias

M THead.
STSIERIE YEIdeR e fohe. STaren

M@ ¥ Qe Sea.

Hehdleh :

(A) (a), (b) U (d) gk 3T 70T
(c) SRR TR

(B) (@) T 3R T (b), (¢) 3 (d)
S 3T

(C) (a) 3T (b) TSR TG AT (¢) A0
(d) I 3R

D) (@), (b) A (d) TSR ATga (0T
(c) Tk 38

(c)

(d)

22



61.

62.

Which of the following statements

is not correct ?

(A) Military capability is a tangible

element of National power.

(B) The quality of leadership can

improve the power of a state.

(C) Demographic indicators are
important for understanding

the power of a state.

(D) Geography is an element of soft

power of a state.

Which of the following statements
is not correct about Paris agreement
on Climate Change 2015 ?

(A) It has determined uniform
target of emission reduction for

all countries.

(B) It has asked countries to
determine their own emission

reduction targets.

(C) It relies on the principle of
differential of

developed and underdeveloped

treatment

countries for emission targets.

(D) It has made a detailed time-
table for emission reduction for

all countries.

61.

62.

JUN - 15219/1I—B
Greffeien] Hv foe seR T ?

(A) TRl &A1 81 AT T HISHY
HIA AU EH IR

(B) Aqcamr=Al UEHes Tsar=Al ekt
@ TS Iehd.

N o

(C) dRgEe A

Sy W ST

T HHSH HUAHIE! SA9Ieh ST
(D) e & q9= §uel ST ST

ATATEL0T SeATasR= 2015=a1 4RH

FUTHS e ©ITeATerdsht shivrad faem

TSR ATE ?

AR ¥d QAT IS Al
T gaF Sfee foa oTR.

(A)

(B) {ER §d I IS HH]

HOIE Wd:d 3fEse SFTATET
AFR ATR.

(C) TR faesrfaa 9 fomamsia qem

(o o [a NN ha¥ o [
SCASTT enH[ U] ool SIgSe

A 3T
R ¥4 ITMEE IS HHl

HOI JedlToeh fool 7.

(D)
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63.

64.

Which of the following is an
incentive behind the Look East

Policy of India ?

(A) Weapons purchases

(B) Quest for energy security

(C) To build relations to counter

China-Pak axis
(D) Dominate the Indian Ocean

Which of the following regional
trade groups have lowest percentage

of intra-regional trade ?

(A) SAFTA (South Asian Free

Trade Association)

(B) NAFTA (North Atlantic Free

Trade Association

(C) EU (European Union)

(D) ASEAN (Association of South-

East Asian Nations)

63.

64.

JUN - 15219/I1—B

IRATAT JAifaE SRl 3Ws QORI

Sk WoileTdeh! iUl 3T ?
(A) IS ©ET

(B) TSl GR&=T WSgdE

(C) I-IfhEd™ ST&TTeT STR SUaATdTS

oY FURO

(D) &t HeEmNER o= a0

ETATTdeh! ShIOTeAT YIef¥Teh MR T

TAYRINTT SAUNE GHIOT §aid Al

AR ?

(A) ¥ (a0 e go =R

TEEAT)

(B) Al (3T FecAifesdh T AR
TEEAT)
(C) g (|I= Tere)

(D) NfEa™ (AT STi¥mEmRt I

)

24



65.

66.

Which of the following principles of
the WTO applies specifically to the

developing countries ?

(A) Special and differential
treatment

(B) Reciprocity and non-
discrimination

(C) Predictability through
transparency

(D) Equal treatment to locally

produced and foreign goods

Which of the following statements

is correct ?

(A) World system theory believes
that anarchic international
system is the root cause of

conflict.

(B) Structural realism believes that
human nature is the root cause

of conflict.

(C) Realist theory of International
Relations draws inspiration

from Hobbes’ thought

65.

66.

JUN - 15219/11—B
SMfdeh SR FoeAd qeiadehl hIvd
T foeiea: faeR

q S Y ?
(A) s sufor oFredt arTR

(B) TERAT U1 SgYEmn 314

(C) IR IS IauaTSi

(D) T ofoT WRQEM SR FHA
ST

EATTUeh! iU fIgM sRieX e ?

(A) Sifass sggwen fagrar=ar #q
SISTh! STAWSLT HILT § Foud
a3 .

(B) S{EATcHe dRddRr=a Ad Al

QYE T 6 EEE o e

(C) AW HI Tl ArEqdarg]
fagrart ATon glesrean faamid
T

(D) Constructivism analyses the . N e m
) ) (D) T=AMERE AT Tl Tl
core and periphery in
International Relations. anfor ufter == faseAsor .
25 [P.T.O.



67.

68.

Which of the following pairs is not

matched correctly ?
List I
(@)
®)
(c)
(d)

Balance of power
Deterrence
Collective security
UN peace keeping
List II

@)
(@)
(ti1)
@iv)
(A)
(B)

Making alliances
Nuclear weapons
Isolating the aggressor
War with the aggressor
(a-1)

(b—ii)

(C) (c-iii)
(D) (d-iv)

Which of the following are forced

migrants ?

(A)

Mexicans crossing the border to
enter the US

(B) Sri Lankan Tamils living in

camps in Tamil Nadu
(©)
(D)

Indian workers in Saudi Arabia

Pakistani workers in UAE

67.

68.

JUN - 15219/I1—B

TTeATeTdehl RO SIS e eda

et AT ?
EIC |

(@) @ HHAA

(b) wEA

(c) WHfeh Feam

(d) FIFa TSI Maar &0 HEd
Trdt 11

TS IO

@)
(i) 3T

(iif) SHYHRIAT Tehe TS
(fv) STHARRIT Y HI
(A) (a-1)

(B) (b-iz)

(C) (c-ii)
(D) (d-w)

@eieTieh! hIUd oileh T T

HIOR e ?
(A) € Sfers SHiehd

JUR AR

ALY TR

oo

(B) diHaredean ffd
et afes
(C) Rl sRiTanial WRdE HHIR

(D) T WS R arfereart
FHTTR

26
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69. A new model of public sector | 69. 1990 H&J ITAW Teie!  WESITeh &HT
management which emerged in e’ T A9 gfaum I AemE
1990s is known also as : Bl S
(A) Managerialism (A) HIEAITE
(B) Market-based public adminis- (B) SN ARIITE

tration ~ .
(C) A=EEIh 3ESleh UM AN
(C) Entrepreneurial government
(D) a &6 94
(D) All of the above < .
70. WICAATRT RV SITST SR S[esaeied]

70. Which of the following pairs is not T 2

matched correctly ? .
w9 1
Column I '
.. (@) et fagia

(@) Critical Theory

. (b) dATEIadg
(b) Realism

STfae e fagm

(¢) World System Theory ©
(d) Social Constructivism (d) WIS e

Column II a1
() Regime, Institutions @) ’
(i1) Interests, Power @) Te g, '
(ziz) Core, Periphery (i) %3, TR
(tv) Norms, Values (iv) Fhd, T
(A) (a—i) (A) (a-0)
(B) ®-i0) B) b-1i)
(C) (c—iid) (C) (c—iid)
(D) (d-iv) (D) (d-iv)
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71.

72.

Which of the following is an element

of India’s ‘Look East’ Policy ?

(A) Nuclear co-operation treaty

with ASEAN countries

(B) Co-operation with ASEAN
countries on South China Sea
disputes

(C) Promoting Democracy in

ASEAN countries

(D) Free Trade Agreement with

ASEAN countries

Among the following regional
groups, which has signed a Free

Trade Agreement with India ?

(A)

European Union

(B)

Association of South-East Asian

Nations

(C) Shanghai Co-operation

Organisation

(D) Gulf Co-operation Council

71.

72.

JUN - 15219/I1—B

TCATUshT ShIVIdT F2eh TRATeAT Jaif e

T GRUTET T o2 A 7

(A) MfEaE YN Afvaeh e

(B) ST <emeh Sfaor =i Sgge

EEIMER:EER]

(C) TEaM <M AhemR= IR

(D) enfaam el EeA SATIRE

X

ETATTUeh! ShIvTcT &5 T WRATSRIs

G HMNE FAR hell 3R ?

(A) U TRrEH

(B) MM (ST=I- 3Ty 9=t
T

(C) M&MT TEht™E TEEAT

(D) % TghE TES

28



73.

74.

Which of the following is not

an element of India-Russia

co-operation ?

(A)

Joint ventures in weapons

production

(B)

Joint ventures in exploration

of natural gas

©)

Joint ventures in sea-bed

exploration

(D) Nuclear partnership

Which of the following statements

is true ?

(A) Indus Water Treaty created the

Permanent Indus Commission.

(B) Indus Water Treaty gave the
control of three ‘eastern’ rivers

(Beas, Ravi, Sutlej) to Pakistan.

(C) Indus Water Treaty appointed
an international mediator for
resolving water disputes

between India and Pakistan.

(D) Indus Water Treaty appointed
a third party arbitrator to
resolve water disputes between

India and Pakistan.

73.

74.

JUN - 15219/I11—B

ST TeTdsh! ShIOTAT SEeh  MTdq-FTan

TERTIE ek AATEr 2

[Nl X JlaY

(A) e Hfde g SuwA

(B) 7afifer = Sium= W SUHA
(C) 9F Toor=A Siemel W SUshH

(D) aTfUaer 9rferRt

@eileldehl ivd oo™ sel 3T ?

(A) fdy doieey FRRH HETEE
iy & (Indus Commission)
foefor .

(B) T4y uffered iRA qedhera q4

TJai=a (faermw, U, Faaw)

qiferedmen e

fae 9rofiarey wIRM 9Ra-
ifehEaHTdel SeAfaaere R
PTG AT Hel

(®)

(D) fag wroftared &UUA EIRA-

EN BN G IS GIEEIHERRELETY

FLOITHES e THAT
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75.

76.

77.

Which one of the following is not
a principle of India’s Nuclear

Doctrine ?

(A) Non-proliferation of nuclear

technology

(B) Minimum Credible Deterrence

(®)

No First use of Nuclear

Weapons

(D) No use of nuclear weapons

against non-nuclear states

In which year did India host and
chair the summit of the non-aligned

movement ?
(A) 1983
(B) 1979
(C) 1976
(D) 1986

Which of the following terrorist
groups is not banned by Government
of India ?

(A) Abu Sayyaf Group
(B) Babbar Khalsa International

(C) Communist Party of India
(Maoist)

(D) Hizb-ul-Mujahideen

75.

76.

77.

JUN - 15219/I1—B

WTATAUh] ShIUd dxa YR 3fUeeh

Sffrea ad & ?
(A) ST TR iy

(B) foam favama® swiem

(C) SUIE= 99 a9 S0l

(D) ATILHLTY AT 2yNfasg

SIS IR T )

et wefrg e
(AT ) Sesdesren fIRer uftuew
ISHAYG S0 TAYFIS Yoacd ?

A H10TeT

(A) 1983
(B) 1979
(C) 1976
(D) 1986

WeATeTUeh! v CETaaTe! TeE). HRd
TWHRA ] Hacel] Arer ?

(A) 3T FETH T

(B) SR WAH $THIMA
(C) 9Rd™ e 9 (HIsiEmnR!)
(D) feso-3a-genfedH
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78.

79.

80.

‘Chakmas’ are the migrants in India
who have come from :

(A) Bangladesh
(B) Myanmar
(C) Bhutan
(D) Nepal

Who the
‘founding fathers’ of the non-aligned

are regarded as

movement ?

(A) Nehru, Nasser, Sukarno

(B) Nehru, Tito, Sukarno

(C) Nehru, Nasser, Tito

(D) Nehru, Sukarno, Ho Chi Minh
Assertion (A) :

India-Vietnam friendship dates back
to Cold War period.

Reason (R) :

Vietnam has supported India’s bid
for UN Security Council permanent
membership.

Codes :
(A) (A) is true, (R) is not true
(B) (A) is not true, (R) is true

(C) Both (A) and (R) are true, but
(R) is not a cause of (A)

(D) Both (A) and (R) are true and
(R) is a cause of (A)

78.

79.

80.

JUN - 15219/I11—B

‘FHH TIARG 9T

A1 G ATeA.
(A) SRS
(B) ®=MHR
(C) 4ar

(D) Tures

TeRUE Fesdaid (SAfTadEe Tedes)
fRTeUhR IOl e S ?

(A) &%, TR, FHMI

(B) T&w, f&&, &l

(C) &, TR, fe

(D) 7&&, oril, & = fa=
faam (A) -

TR Ta™ H3i1 SfagsT=an e
T ..

<iuT (R)

g TSl GRETT Rl i
GUESATHIS! YR hid STl T
feguaaTa=n ufsen TR,

Hehdieh :
(A) (A) IR TR, (R) IH 3R
(B) (A) 9% 38, (R) SR 3R

(C) (A) 3Tfr (R) =l SRIeR 2Ted, I0
(R) ® (A) ¥ &R &N

(D) (A) 2701 (R) el sRIsR 37ed, 3o
(R) ® (A) ¥ N0 3T
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81.

82.

83.

Which of the following description

does not fit the concept of

‘Multiculturalism’ ?

(A) Salad Bowl

(B) Cultural Mosaic

(C) Melting Pot

(D) Homogeneous Society

Who among the following argued

that ‘Man is working species’ ?
(A) Babeuf

(B) Karl Marx

(C) Hegel

(D) Gramsci

Who among the following argued

that ‘Power is repressive’ ?
(A) Gramsci

(B) Karl Marx

(C) Hegel

(D) Foucault

JUN - 15219/I1—B

81. WeieTdeh! STV faSTom SgHEhdram o

Hheq e e AT ?
(A) Here 4

(B) sheolal High

(C) #feem dfe

(D) THTEY U

82. WIEcTyeh! ShIvT HSATH ‘ HTHRT TSIl

83.

31 gferdarg A ?
(A) s=q

(B) whIei R

(C) &

(D) umHEit

@A SHIv Tl &l SHARI] 3T’

31 gferdarg A ?
(A) vt

(B) i HIed

(©) &

(D) EH!
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84. What is the source of Marx’s famous | 84, ‘starqda=n sfagr, TaS=AT aFf Geoi=n
statement that “The History of all shEm oM’ W WEdeN fauEEl |9
hitherto existing societies is the ; ;
history of class struggle” ? A
(A) The Civil War in France (A) T fafea st 37 w9
(B) On the Jewish Question (B) 31 T Gﬂ—gm FITTH
(C) Manifesto of Communist Party (©) WFHEE sifE st el
(D) Contribution to a Critique of . .

Political Economy (D) ET;‘:WW:{ s 9 wifew &

85. Which variant of liberalism espouses
sympathetic consideration of | 85. gt[\g'fé gHh  Afur  ATUgBIATH -
cultural differences, group rights ®|§‘{‘i@¢|i°|°|(ﬂ(’1 e &7 J-Lc*«lidl
and majority-minority relations as -« S
its core values ? H‘élj“j\lﬁ(‘%ﬁl"l’t HIdAl enlYIdl SQIKHAAIKEI

ThR ?
(A) Multiculturalism '
(B) Classical liberalism (A) TEHERAER
(C) Communitarianism (B) fYed IqRHAAR
(D) Libertarianism (C) IREAR

86. Give the correct answer to the (D) STRHER

statement below :
Post-modernist typically argued 86. w@ciia faur= ara W M
that ........ S-Sy feameeaen 7
(A) ‘Universalist’ narratives which N o n N
attempt to explain the world (&) lﬂl“fl TR ORI S e
are invariably false. eHlE SIcd SiMdld.
(B) The world 1is socially (B) = ¥ fafay gt mrfsehgsean
constructed in a variety of T 3794,
ways. . .
(C) Differences of viewpoints should © = et a-?w . St
be celebrated not deplored 3Te, fomepRuarsl e,
(D) All of the above (D) =t el
33 [P.T.O.



87. Which of the following pairs is

88.

correct ?

(A) Conservatism — Anti-social
change

(B) Conservatism — Anti-authority

(C) Conservatism — Anti-organic
society

(D) Conservatism — Anti-tradition

Match List I with List II and select
the correct answer from the codes
given below :

(a)
®)
(c)
(d)

(1)
(2)

3)
(4)

List I
T.H. Marshall
Thomas Paine
James Madison
Samuel Smiles
List II
The Rights of Man

Advocated the concept of
enterprise, hardwork and self-
reliance

Citizenship and social class

Advanced constitutional
republicanism

Codes :

(A)
(B)
€
(D)

(@ b)) © @
1 @ B @
4 @ @O @
@ @O @ @
2 @ G @

87.

88.

JUN - 15219/I1—B

TTeiteTehl IO SISl SRR ool
;e ?

(A) feafqae — @IS sqa foly
(B) feafqeare — siferrerg faiy
(C) feufqae — Sifae wwr folig
(D) fearfqerg — oo forliy

St 1@ At 11 3 Jesan onfor awy
S wIE (Feha-gat) AEd feer .

et 1
(@) T Ania
(b) oFE
(c) 9 HEH
(d) 9sd TS
Tt 11
(1) T UEH A%
(2) ScEFTYEE, IRMEET TR et

TIHERAd A GeheaTdl IR

el
(3) Torerefiu ofe ORI
(4) WA TSR HAER
HE (Feha-ge) :
(@ ®) @© (@@
A O @ 3 @
B @ 2 @O 3
< 3 1 @ @
O 2 @ & @

34



JUN - 15219/I11—B

89. Give the correct answer by using the

89. Hehdish dATEd AT IW gl

codes given below :
Assertion (A) :

The economic theory of the
‘Philosophical Radicals’ was directed
from the start, towards the practical
purpose of freeing commerce from

the restrictions.
Reason (R) :

The general outline of utilitarian
thinking was announced in
Bentham’s earliest work, ‘The

Fragment of Government’.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but

(R) 1is not the correct

explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

faem (A)

frargiithera deshed’ a1 e aAfeie

g1 eI SHT9R Hekd Hudr=Al

SHeeleh 3fese URd Sen Bl

0T (R)

SUeRdTeereA foramr=ht Arevf sigm=A

Eardr=al H@d ‘g HIHEY A6

TTegHe ' a1 qRIehTd WiqaTad shefl g,

Hehdieh :
(A) T (A) 30T (R) SR 3T, ST

(R) ¥ (A) = seR TR0 3T

(B) =l (A) o7 (R) SRR 37ed, W

(R) B (A) ¥ IR TISIhI0 TSl
(C) (A) s 37, Wg (R) I T

D) (A) I% 1%, g (R) S 3T
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90. Match List I with List IT and select | 90, 9wt I & ot I 3t Jezan 7T Geha-

the correct answer from the codes

T IR HEA I IH A
given below :

List I (Ideologies) ardt 1 (feremgomTet)
(@) Liberalism (@) SIHATER
(b) Conservatism b) EIEE
(¢) Socialism ©
(d) Ecologi
cologism @

List II (Core Values)
Tt I (e 5e9)

(1) Holism, anti-anthropocentrism

(2) Community, equality, labourism, (1) HYuidrere, Agsehisd falg

cooperation (2) FUEE, §HAI, ARG, FEhR

(3) Tradition, organic society,

(8) o, Sfass TN, IaS, ATCTHT
hierarchy, property

S (4) =, =M, faas,
(4) Freedom, justice, reason, W

toleration Heha-geit

Codes : @ B @

(@ b)) © @
A o @ @ 3
A o @ @ O
B 3 @ @ @O
B 3 @ @ @O

¢ 2 @ 6 @ < 2 O @ @

D) @ B @ @ D) @ B @ @
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91.

92.

93.

94.

Who is the author of the book ‘Prison
Notebooks’ ?

(A) Franz Fanon
(B) Karl Marx

(C) Antonio Gramsci
(D) V.I. Lenin

Who among the following wrote the
book ‘Wretched of the Earth’ ?

(A) Karl Marx

(B) Lenin

(C) Franz Fanon
(D) Hannah Arendt

The negative theory of liberty was
advocated by :

(A) John Stuart Mill
(B) T.H. Green
(C) Isaih Berlin
(D) Karl Popper

Which one of the following thinkers
stressed the productive dimension of

power ?

(A) Foucault
(B) Mill

(C) Marx
(D) Lasswell

91.

92.

93.

94.

JUN - 15219/1I—B
‘firg s’ A T SR AW 2
(A) WE B

(B) el AR

(C) sTaifs Tt

(D) =fedR sfear afE

WAt Ho ‘e R g A’
q&ie feffeed ?

(A) el T

(B) i

(C) ®id HH

(D) B e

TS = fagid
I WA

(A) S ' faa

(B) ST UH

(C) ¥4 Sl

(D) = W
ATl v faaream ax=
IE qRATTER W e ?

(A) HhI

(B) faa

(C) W

(D) <«
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95.

96.

97.

Who among the following used the
expression ‘forced to be free’ in
connection with the notion of liberty

of the individual ?
(A) Rousseau

(B) Locke

(C) Green

(D) Hobhouse

Who among the following said that
democracy can become ‘tyranny of

the majority’ ?

(A) J. Rousseau
(B) De Tocqueville
(C) J.S. Mill

(D) James Madison

Who argued that ‘life, liberty and
property’ are inalienable rights of

men ?

(A) Aristotle
(B) Rousseau
(C) Hobbes

(D) Locke

95.

96.

97.

JUN - 15219/I1—B

BRI HIN  Ffaaeard sar=ar
FeheU =1 Hewid ‘ Sasade Sere&’
B I TAN el ?

(A) &4

(B) <l
(C) UM
(D) Bld8Hd

TATATh! ST ST el AR hI
AHIME & TgEEAR THANME &I
IR ?

(A) 3. ®E

(B) E fehfora
(C) Su@. fHa
(D) SF "

Stred, @ st it § et |
AT JUR HHATE BFh 3TTed, 3T I
el ?

(A) f=iea
(B) &4

(C) @lsst

(D) @M
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98.

99.

The term Legitimation crisis is most

associated with :
(A) Gramsci

(B) Foucault
(C) Habermas
(D) Lenin

From whom does Marx borrow but
fundamentally modify his dialectic

method ?
(A) Kant
(B) Hegel
(C) Adam Smith

(D) Ludewig Feuerbach

100. Who described freedom as the

‘silence of the laws’ ?

(A) Isaiah Berlin

(B) Thomas Hobbes

(C) Milton Friedman

(D) J.S. Mill

98.

99.

100.

JUN - 15219/11—B
‘arfermrraen TEwET @ HE g
Fmeh frrfea o ?

(A) TTHSN
(B) %!
(C) B&rH™

(D)

TR FIVThSA GEIHe TG SohIed

T qAYd JRa et 2

(A) HTe
(B) &

(C) 3feH f&y

(D) Tl HhiEEmE

HIU A T w91 3™
Hel 3ME ?

(A) 9™ I
(B) 99 Rl
(C) Theed frsw

(D) S.uE. fga
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ROUGH WORK
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